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Write the slope formula below:
Slope formula =
Finding slope using two pointsl:
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Finding slope using a graph:
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Using slope to determine whether points land on the same line:
Do the points lie on the same line?
Sample: A(1,3),B(4,2),C(-2,4)
Slope AB=2-3 =-1 Slope BC=4-2 =2 (be sure to reduce) = -1
4-1 3 2-4 -6 3
Lines AB and BC have the same slope. So, the points lie on the same line.
L. A3, 5), B(6, 5), C(7, 5) “Thay Woue ¥ag Same
‘ N . - - . 7 . S\Of{ o\{- ek o,
7 =22 -0 -5 €l= 2-5 2. o U e Unew
) . — :,* . L!) | 4
2. P(1, 3), Q(3,-1), R(0, 5) ()
— 3 i . ( o = - -_ a=n o
= “‘_l_ = - "\ 4___ \)"’\ o= ( \) - _(_O_. = _é
- s - -8 ~J
'*—-C..‘.; Yiga s ~ Lg S Ce N P J\u(f o
- Z’_ i).__) ¥ Lk N = P irm2 Cor o
. - 2 " ,
o 3 P(-4,-5), -Q(O' 2) RH:_S) A= S -(- 2.\ Tha, B nat aws
Yo = - 7 (-t ) B 5 ad ¢ - ) = ) v
Y < \ "= s . - — "’f)\fJL Sa we S "—)r'E'

~ I



Finding a line on a graph using the given point and the given slope.

1.) (1, -3); Slope =-2 2.) (2, 5); Slope = -4 3.) (-1, 5); Slope = Undefined
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Write the slope-intercept equation below:

y= o > bx

Where b= S\op€ and a= - CWECLE, +
R Y ?
Find the slope and the Find the slope and the y — intercept of each equation:
1) y=-5-3x 2) 3x-9=y 3) Zx=y+7
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